R 4__JSPCC 2.0t BUREHTEE
1 _|EYTR 1 [SPCC 2.0t BEE (R
6 [bn -k ) [IET T bty
5 |[lRziTikR 4__|SPCC 0.6t BUBERITEE
4 g e 8 |SPG 1.2t A
3 {7 b 2t 2|7 533908 £ (2)
2 |70 1
E=S 1 |t=1malk BRI
0 [CERIED 1_[SPCC 1.6t BB HEE
9 [T 1 | o5apbaEn (7" [HiRME
8 [B#&EH- 2 | ¢1007 L& P Q)
=T 2 | $1000 LERbyN = |22
6_ ik 2__|SPCC 0.8t BURERTRE
5 |ER 2 [SPCC 0.8t U S T RE
4 [%f 1 [5PCC 0.8 GO
3 |iig 1 [SPCC 1.0t TR
2 |fiiR 2 |SPCC 1.0t BB SRR
[IEYST 1_[sPec 1.0t BU S HEE
No. |£5% BB 5% - RENE
|£ETS 4603
MR THE
| R : Jy=y
1245 (= > VR BIE [7.567/2. 5 (GN)
W=1160
580
1110 W=1140
D=550
(10) 12 (1 1 Qz) |
g |l @ 3 |8 L
o —
= —1 @ _
= =1 1 o
° =] |=] (= )
i =] =i & A
= |=| |=|
EﬁE f%::::::::::,‘jk\ I ! 8
=] c
B EN g -2 |
1=l 1Z1 D © i S
ol [ S| o | S 8
[ ol N — : 11
}Z} @%}:} e @ o -
= *::::::::::fﬂl’j i I ! N [ 1
@/ = =t
1Z1 121 o
= = 18 8
N e
; @ 8 ﬁ%%:
2 %8 . 70. Oke
—&H-YDRKEH=E : 250ke
—EHh-Y OHWEEHE : 50ke
1R B %X A kﬁu‘y—}b'j j\‘/ RE Scale
= C. A =
2009.9.18 | WWHE |Tteusco SATOMLERHESH 1160 % 550 x 1090 NTS-507 1/14




